
LLT6012DE MODULE EA1.00916066-000

1 Mtl 5 ..456-000 CONV NUT HEX #10-24 4.00 4.00 EAEA

1 Mtl 10 ..458-000 CONV NUT HEX 5/16-18 24.00 24.00 EAEA

1 Mtl 15 ..465-000 CONV HHCS 5/16-18X7/8 12.00 12.00 EAEA

1 Mtl 20 ..467-000 CONV HHCS 5/16-18X3/4 GR5 12.00 12.00 EAEA

1 Mtl 25 ..480-000 2 LOCKWASHER 5/16 SPLIT ZINC 24.00 24.00 EAEA

1 Mtl 30 ..481-000 2 LOCKWASHER 3/8 SPLIT 1.00 1.00 EAEA

1 Mtl 35 ..484-000 CONV LOCKWASHER #10 SPLIT 4.00 4.00 EAEA

1 Mtl 40 ..630-000 CONV LOCKWASHER 3/8 INTERNAL 
TOOTH 

1.00 1.00 EAEA

1 Mtl 45 ..636-000 CONV LOCKWASHER 1/2 SPLIT ZINC 6.00 6.00 EAEA

1 Mtl 50 ..643-000 1 PIPE PLUG 3/8 NPT SQ.HEAD 
GALV

1.00 1.00 EAEA

1 Asm 55 ..15992-000 4 WELDMENT, FUEL TANK 1.00 1.00 EAEA

2 Mtl 5 ...15938-000 CONV FLANGE, WELD 3/8NPT 3.00 3.00 EAEA

2 Mtl 10 ...15939-000 1 FILLER NECK 1.00 1.00 EAEA

2 Asm 15 ...15993-000 4 BOTTOM, FUEL TANK 1.00 1.00 EAEA

3 Mtl 5 ....200016-012 A GALVANNEAL 12 GA 56.50 1,795.54 SILB

2 Asm 20 ...15994-000 1 TOP, FUEL TANK 1.00 1.00 EAEA

3 Mtl 5 ....200016-012 A GALVANNEAL 12 GA 91.50 2,907.81 SILB

2 Asm 25 ...15995-000 1 BAFFLE, FUEL TANK 2.00 2.00 EAEA

3 Mtl 5 ....200016-012 A GALVANNEAL 12 GA 13.30 845.33 SILB

2 Mtl 30 ...16042-000 CONV FUEL CAP 1.00 1.00 EAEA

2 Mtl 35 ...16043-000 CONV INDICATOR, FUEL - MECHANICAL 1.00 1.00 EAEA

2 Mtl 40 ...91257-000 CONV PERMATEX No. 2 FORM-A-
GASKET 8

0.00 0.00 EAEA

2 Mtl 45 ...96040-002 CONV PIPE PLUG 3/8-18 HEX SOC. 1.00 1.00 EAEA

2 Mtl 50 ...91180-000 CONV HEAT SINK COMPOUND 0.00 0.00 EAEA

1 Asm 60 ..15996-000 1 SUPPORT, ENG.RIGHT 1.00 1.00 EAEA

2 Mtl 5 ...200014-010 A HRPO 10 GA 3.30 84.48 SILB

1 Asm 65 ..15997-000 1 SUPPORT, ENG.LEFT 1.00 1.00 EAEA

2 Mtl 5 ...200014-010 A HRPO 10 GA 3.30 84.48 SILB

1 Asm 70 ..16012-000 4 CROSSMEMBER, BASE 2.00 2.00 EAEA

2 Mtl 5 ...200014-010 A HRPO 10 GA 12.00 614.40 SILB

1 Asm 75 ..16026-000 3 BATTERY TRAY 1.00 1.00 EAEA

2 Mtl 5 ...200068-016 A GALVANIZE 16 GA 2.00 108.45 SILB

1 Asm 80 ..16044-000 2 TUBE, FUEL TANK 7.5^ 2.00 2.00 EAEA

2 Mtl 5 ...92386-012 CONV PIPE NPL 1/8NPTX8 1.00 2.00 EAEA

1 Mtl 85 ..16055-000 CONV HOSE, AIR DUCT 2"ID X 72"  FLE 0.75 0.75 FTFT

1 Asm 90 ..16094-001 9 HOUSING, SUB-ASY. 1.00 1.00 EAEA

2 Mtl 5 ...447-000 CONV NUT HEX 5/8-11 ZINC 4.00 4.00 EAEA

2 Mtl 10 ...481-000 2 LOCKWASHER 3/8 SPLIT 2.00 2.00 EAEA

2 Mtl 15 ...636-000 CONV LOCKWASHER 1/2 SPLIT ZINC 10.00 10.00 EAEA

2 Mtl 20 ...1744-000 CONV NUT HEX 1/2-13 10.00 10.00 EAEA

Page:

Indented Level Time:

Date:
User: daler

WINCO INC
Bill of Material Report

DescriptionAlt Qty/Parent Required QtyTypeLvl Seq RevisionPart Number

1

8:09:19 am

5/25/2016



2 Mtl 25 ...15209-000 4 DECAL-SET 1.00 1.00 EAEA

2 Mtl 30 ...15287-000 16 AIR SEAL-UNCUT BULB GASKET -
UN

6.38 6.38 FTFT

2 Asm 35 ...15680-011 3 DOOR 1.00 1.00 EAEA

3 Mtl 5 ....200016-016 A GALVANNEAL 16 GA 20.00 1,084.38 SILB

2 Asm 40 ...15680-012 3 DOOR 1.00 1.00 EAEA

3 Mtl 5 ....200016-016 A GALVANNEAL 16 GA 20.00 1,084.38 SILB

2 Asm 45 ...15998-000 3 DUCT, AIR INLET 1.00 1.00 EAEA

3 Mtl 5 ....200016-014 A GALVANNEAL 14 GA 25.00 1,097.25 SILB

2 Asm 50 ...15999-000 5 DUCT, MUFFLER 1.00 1.00 EAEA

3 Mtl 5 ....200016-016 A GALVANNEAL 16 GA 20.00 1,084.38 SILB

2 Asm 55 ...16000-000 2 FRONT, HOUSING 1.00 1.00 EAEA

3 Mtl 5 ....200016-016 A GALVANNEAL 16 GA 15.00 813.29 SILB

2 Asm 60 ...16010-000 2 TOP, LIFT.YOKE 1.00 1.00 EAEA

3 Mtl 5 ....200014-010 A HRPO 10 GA 12.00 307.20 SILB

2 Asm 65 ...16011-000 4 BAFFLE, L.REAR 1.00 1.00 EAEA

3 Mtl 5 ....200016-014 A GALVANNEAL 14 GA 25.00 1,097.25 SILB

2 Asm 70 ...16014-000 1 DOORSTOP 4.00 4.00 EAEA

3 Mtl 5 ....200016-014 A GALVANNEAL 14 GA 1.00 175.56 SILB

2 Asm 75 ...16015-000 5 DUCT, AIR OUT 1.00 1.00 EAEA

3 Mtl 5 ....200016-014 A GALVANNEAL 14 GA 6.95 305.04 SILB

2 Asm 80 ...16020-000 2 BAFFLE, AIR OUT 1.00 1.00 EAEA

3 Mtl 5 ....200016-014 A GALVANNEAL 14 GA 2.50 109.73 SILB

2 Asm 85 ...16021-000 4 HOUSING, REAR 1.00 1.00 EAEA

3 Mtl 5 ....200016-014 A GALVANNEAL 14 GA 25.00 1,097.25 SILB

2 Asm 90 ...16022-001 2 LIFT.BAR, L.FRONT 1.00 1.00 EAEA

3 Mtl 5 ....100011-125 CONV STL.FLAT HR BAR 1/4X3 A36 7.28 7.28 LBLB

2 Asm 95 ...16022-002 CONV LIFT BAR, RIGHT 1.00 1.00 EAEA

3 Mtl 5 ....100011-125 CONV STL.FLAT HR BAR 1/4X3 A36 6.38 6.38 LBLB

2 Asm 100 ...16022-003 1 LIFT BAR, L.REAR 1.00 1.00 EAEA

3 Mtl 5 ....100011-125 CONV STL.FLAT HR BAR 1/4X3 A36 7.28 7.28 LBLB

2 Asm 105 ...16023-000 1 BAFFLE, NOISE 1.00 1.00 EAEA

3 Mtl 5 ....200016-012 A GALVANNEAL 12 GA 2.05 65.15 SILB

2 Asm 110 ...16024-000 3 ROOF 1.00 1.00 EAEA

3 Mtl 5 ....200016-014 A GALVANNEAL 14 GA 41.70 1,830.22 SILB

2 Asm 115 ...16070-000 4 BATTERY ACCESS PNL. 1.00 1.00 EAEA

3 Mtl 5 ....200016-016 A GALVANNEAL 16 GA 2.90 157.24 SILB

2 Asm 120 ...16090-000 8 CONTROL PANEL ASY. 1.00 1.00 EAEA

3 Mtl 5 ....3884-000 CONV RHMS 1/4-20X5/8 1.00 1.00 EAEA

3 Mtl 10 ....4158-000 4 TERMINAL, RING, 16-14AWG, #10 1.00 1.00 EAEA

3 Mtl 15 ....5315-000 CONV NUT HEX #10-24 NYLOK 4.00 4.00 EAEA

3 Mtl 20 ....456-000 CONV NUT HEX #10-24 1.00 1.00 EAEA

Page:

Indented Level Time:

Date:
User: daler

WINCO INC
Bill of Material Report

DescriptionAlt Qty/Parent Required QtyTypeLvl Seq RevisionPart Number

2

8:09:19 am

5/25/2016



3 Mtl 25 ....12624-000 CONV LW 16 GA, BLACK, 600V/105C, ST 15.09 15.09 FTFT

3 Mtl 30 ....15147-001 CONV OBS SUB -003 1.00 1.00 EAEA

3 Asm 35 ....15940-000 4 COVER, CTRL. BOX 1.00 1.00 EAEA

4 Mtl 5 .....200016-016 A GALVANNEAL 16 GA 5.75 311.76 SILB

3 Asm 40 ....16029-001 2 DOOR,  RCPT. PANEL 1.00 1.00 EAEA

4 Mtl 5 .....200016-016 A GALVANNEAL 16 GA 3.35 181.64 SILB

3 Asm 45 ....16030-001 2 SIDE, COVER 1.00 1.00 EAEA

4 Mtl 5 .....200016-016 A GALVANNEAL 16 GA 4.75 257.55 SILB

3 Asm 50 ....16045-001 1 BOTTOM, COVER 1.00 1.00 EAEA

4 Mtl 5 .....200016-016 A GALVANNEAL 16 GA 1.10 59.65 SILB

3 Asm 55 ....16110-000 1 WELDMENT, R.R.BAFFLE 1.00 1.00 EAEA

4 Asm 5 .....16019-000 CONV BAFFLE, R.REAR 1.00 1.00 EAEA

5 Mtl 5 ......200016-014 A GALVANNEAL 14 GA 25.00 1,097.25 SILB

4 Asm 10 .....16111-002 2 STL.TUBING 2" 1.00 1.00 EAEA

5 Mtl 5 ......100024-142 CONV STL.TUBE 2.000 1.870 ERW 1018 0.18 0.19 FTFT

3 Mtl 60 ....21698-001 9 TORX PAN HD.SHT.MTL.SCREW 
10-1

21.00 21.00 EAEA

3 Mtl 65 ....21850-011 1 TERMINAL, HOOK, 12-10AWG, #10 2.00 2.00 EAEA

3 Mtl 70 ....21975-000 CONV LOCKWASHER #10 INTERNAL 
TOOTH

2.00 2.00 EAEA

3 Mtl 75 ....22034-000 2 TERMINAL, RING, 16-14AWG, 5/16 1.00 1.00 EAEA

3 Mtl 80 ....50766-000 8 RECEPTACLE, NEMA 5-20R, 
DUPLEX

1.00 1.00 EAEA

3 Mtl 85 ....40730-000 CONV GROMMET 1/2IDX13/16 1.00 1.00 EAEA

3 Mtl 90 ....47517-000 CONV NUT HEX 1/4-20 NYLOK 1.00 1.00 EAEA

3 Mtl 95 ....48602-001 32 TERMINAL, FEMALE, 16-14AWG, .2 8.00 8.00 EAEA

3 Mtl 100 ....48602-003 32 TERMINAL, FEMALE, 16-14AWG, .2 2.00 2.00 EAEA

3 Mtl 105 ....48602-008 32 TERMINAL, FEMALE, 12-10AWG, .2 4.00 4.00 EAEA

3 Mtl 120 ....51319-000 CONV TERMINAL, SPLICE CAP, COPPER 3.00 3.00 EAEA

3 Mtl 125 ....51320-000 CONV TERMINAL, NYLON INSULATOR 
CAP

3.00 3.00 EAEA

3 Mtl 130 ....54545-000 CONV RECEPTACLE, NEMA 5-50R, 
FLUSH 

1.00 1.00 EAEA

3 Mtl 135 ....57030-009 CONV CIR.BRK.25A-2PL-240V 1.00 1.00 EAEA

3 Asm 140 ....58166-706 CONV ELAP. TIME METER 1.00 1.00 EAEA

4 Mtl 5 .....394-000 CONV NUT HEX #6-32 2.00 2.00 EAEA

4 Mtl 10 .....566-000 CONV LOCKWASHER #6 SPLIT 2.00 2.00 EAEA

4 Mtl 15 .....7792-001 1 BZ RHMS 6-32X1/2 2.00 2.00 EAEA

4 Mtl 20 .....58166-006 13 ELAP.TIME MTR.10-80VDC 1.00 1.00 EAEA

3 Mtl 145 ....59128-001 CONV HHMS 10-24X3/8 4.00 4.00 EAEA

3 Mtl 150 ....61660-000 CONV SHOCKMOUNT, BLACK-60 
DUROMETER

1.00 1.00 EAEA

3 Mtl 155 ....62487-004 4 LOOM, .500 ID, .695 OD, SPLIT 2.25 2.25 FTFT

3 Mtl 160 ....62487-005 4 LOOM, .350 ID, .510 OD, SPLIT 2.17 2.17 FTFT

3 Asm 165 ....64045-001 19 MOUNTING STRAP 1.00 1.00 EAEA

4 Mtl 5 .....200068-016 A GALVANIZE 16 GA 0.09 4.61 SILB

3 Asm 170 ....64045-003 9 MOUNTING STRAP 2.00 2.00 EAEA

Page:

Indented Level Time:

Date:
User: daler

WINCO INC
Bill of Material Report

DescriptionAlt Qty/Parent Required QtyTypeLvl Seq RevisionPart Number

3

8:09:19 am

5/25/2016



3 Mtl 180 ....71444-001 CONV SWITCH, PUSH BUTTON, SPST 1.00 1.00 EAEA

3 Mtl 185 ....91286-001 23 CIRCUIT BREAKER, 20AMP, 1 
POLE

2.00 2.00 EAEA

3 Mtl 190 ....91778-000 35 LW 12 GA, BLACK XLPE 
INSULATIO

2.59 2.59 FTFT

3 Mtl 195 ....91779-000 11 LW 10 GA, BLACK XLPE 
INSULATIO

14.25 14.25 FTFT

3 Mtl 200 ....91977-006 CONV CIR.BRK.45A-1PL-240V 1.00 1.00 EAEA

3 Mtl 205 ....95894-001 2 SWITCH, TOGGLE, (ON)-ON-OFF, 
D

1.00 1.00 EAEA

3 Mtl 210 ....97360-000 CONV RECEPTACLE, NEMA L14-30R 1.00 1.00 EAEA

3 Asm 215 ....98742-000 3 HINGE 1.00 1.00 EAEA

4 Mtl 5 .....100061-106 CONV HINGE 1.5IN .062 THK STAINLESS 0.50 0.50 FTFT

3 Asm 220 ....64045-018 4 MOUNTING STRAP 1.00 1.00 EAEA

4 Mtl 5 .....200068-016 A GALVANIZE 16 GA 0.07 3.58 SILB

2 Asm 125 ...16091-000 CONV FOAM KIT - LLT 1.00 1.00 EAEA

3 Mtl 5 ....95706-000 1 FOAM, SHEET 1" POLYETHER 
POLYU

31.00 31.00 SFSF

2 Mtl 130 ...21698-001 9 TORX PAN HD.SHT.MTL.SCREW 
10-1

116.00 116.00 EAEA

2 Mtl 135 ...55440-000 CONV SELF TAP.SC.1/4-20X1/2 32.00 32.00 EAEA

2 Mtl 140 ...57580-000 CONV HHCS 1/2-13X1-1/2 GR5 ZINC 10.00 10.00 EAEA

2 Mtl 145 ...62912-000 CONV FOAM STRIP .500 WIDE 1/8"THK. 11.40 11.40 FTFT

2 Mtl 150 ...64214-042 3 DECAL-WINCO INDUSTRIAL-
BLACK 2

2.00 2.00 EAEA

2 Mtl 155 ...81589-000 CONV LOCKING COMPOUND HERNON 
423  5

0.00 0.00 EAEA

2 Mtl 160 ...91137-000 CONV EYE BOLT 5/8-11  1-3/8ID EYE  2.00 2.00 EAEA

2 Mtl 165 ...91658-001 CONV HHCS 3/8-16X1 GR5 ZINC 2.00 2.00 EAEA

2 Mtl 170 ...92914-000 CONV NUT HEX 3/8-16 FULL 2.00 2.00 EAEA

2 Mtl 175 ...95229-004 CONV LATCH, LIFT&TURN W/INTERGAL 
LO

2.00 2.00 EAEA

1 Asm 95 ..16097-000 CONV EXHAUST SYSTEM 1.00 1.00 EAEA

2 Asm 5 ...16009-000 4 EXHAUST SUPPORT 1.00 1.00 EAEA

3 Mtl 5 ....200014-010 A HRPO 10 GA 1.80 46.08 SILB

2 Mtl 10 ...16016-000 CONV EXHAUST FLEX 1.5"NPT X 1.5"NPT 1.00 1.00 EAEA

2 Asm 15 ...16017-000 1 PIPE WELDMENT 1.00 1.00 EAEA

3 Mtl 5 ....16106-010 CONV ENG.EXH.FLANGE 1.00 1.00 EAEA

3 Asm 10 ....16107-000 CONV PIPE NPL 1.00 1.00 EAEA

4 Mtl 5 .....58105-008 CONV PIPE NPL 1.5NPTX6 BLK 0.50 0.00 EAEA

2 Asm 20 ...16028-000 1 SUPPORT, MUFFLER 1.00 1.00 EAEA

3 Mtl 5 ....200016-014 A GALVANNEAL 14 GA 0.35 15.37 SILB

2 Mtl 25 ...55440-000 CONV SELF TAP.SC.1/4-20X1/2 5.00 5.00 EAEA

2 Mtl 30 ...58105-013 CONV PIPE NPL 1.5NPTX11 1.00 1.00 EAEA

2 Mtl 35 ...58106-000 CONV ELBOW-PIPE 1.5NPT 45D 1.00 1.00 EAEA

2 Mtl 40 ...80519-001 CONV MUFFLER, RESIDENTIAL 1.5 NPT 
X

1.00 1.00 EAEA

2 Mtl 45 ...92042-001 CONV ELBOW-PIPE 1.5NPT 90D 3.00 3.00 EAEA

2 Mtl 50 ...93489-003 CONV MUFFLER CLAMP 2"        5/16 3.00 3.00 EAEA

2 Mtl 55 ...94259-001 CONV SAFTEY WIRE -220FT/COIL- 302-3 4.00 4.00 FTFT

2 Mtl 60 ...97274-000 CONV TAPE, HIGH TEMP WOVEN 2"WIDE 
F

30.00 30.00 FTFT

Page:

Indented Level Time:

Date:
User: daler

WINCO INC
Bill of Material Report

DescriptionAlt Qty/Parent Required QtyTypeLvl Seq RevisionPart Number

4

8:09:19 am

5/25/2016



2 Asm 65 ...98467-002 3 TAIL PIPE 1.00 1.00 EAEA

3 Mtl 5 ....58105-008 CONV PIPE NPL 1.5NPTX6 BLK 0.50 0.00 EAEA

1 Asm 100 ..16098-000 2 LEADWIRE INSTALLATION 1.00 1.00 EAEA

2 Mtl 5 ...4155-000 3 TERMINAL, RING, 12-10AWG, 1/4 2.00 2.00 EAEA

2 Mtl 10 ...4156-000 3 TERMINAL, RING, 12-10AWG, #10 4.00 4.00 EAEA

2 Mtl 15 ...4158-000 4 TERMINAL, RING, 16-14AWG, #10 3.00 3.00 EAEA

2 Mtl 20 ...4160-000 3 TERMINAL, RING, 16-14AWG, 1/4 1.00 1.00 EAEA

2 Mtl 25 ...12624-000 CONV LW 16 GA, BLACK, 600V/105C, ST 4.22 4.22 FTFT

2 Mtl 30 ...48602-003 32 TERMINAL, FEMALE, 16-14AWG, .2 1.00 1.00 EAEA

2 Mtl 35 ...48602-008 32 TERMINAL, FEMALE, 12-10AWG, .2 1.00 1.00 EAEA

2 Mtl 50 ...62487-004 4 LOOM, .500 ID, .695 OD, SPLIT 1.88 1.88 FTFT

2 Asm 55 ...71898-001 1 DIODE ASSY 1.00 1.00 EAEA

3 Mtl 5 ....71899-001 CONV DIODE 1.00 1.00 EAEA

3 Asm 10 ....71900-001 CONV MALE TAB TERMNL.ASSY 1.00 1.00 EAEA

4 Mtl 5 .....93942-001 CONV TERM., MALE, 16-14AWG 1.00 1.00 EAEA

4 Mtl 10 .....93942-002 CONV INSULATING HOUSING, 1 
CONTACT

1.00 1.00 EAEA

3 Asm 15 ....71901-001 CONV FEMALE TAB TERM.ASSY 1.00 1.00 EAEA

4 Mtl 5 .....93943-001 CONV TERM., FEMALE, 16-14AWG 1.00 1.00 EAEA

4 Mtl 10 .....93943-002 CONV INSULATING HOUSING, 1 
CONTACT

1.00 1.00 EAEA

3 Mtl 20 ....63627-005 CONV HEATSHRINK TUBING, 1/2" 
EXPAND

0.21 0.21 FTFT

2 Mtl 60 ...91331-000 CONV SLEEVING, #0, GRADE B, 
ACRYLIC

0.50 0.50 FTFT

2 Mtl 65 ...91778-000 35 LW 12 GA, BLACK XLPE 
INSULATIO

0.50 0.50 FTFT

2 Mtl 70 ...91779-000 11 LW 10 GA, BLACK XLPE 
INSULATIO

3.00 3.00 FTFT

1 Asm 105 ..16103-000 1 BASE WELDMENT 1.00 1.00 EAEA

2 Asm 5 ...16008-000 CONV BASE 1.00 1.00 EAEA

3 Mtl 5 ....200014-010 A HRPO 10 GA 112.50 2,880.00 SILB

2 Mtl 10 ...21857-000 CONV PIPE COUPL. 3/8 NPT BLK 1.00 1.00 EAEA

1 Mtl 110 ..16106-000 CONV ENG-LISTER LPA3 1.00 1.00 EAEA

1 Asm 115 ..16142-000 1 LEADWIRE ASY 1.00 1.00 EAEA

2 Mtl 5 ...41303-000 CONV LW 6GA STRN.PLA.WHT 0.59 0.59 FTFT

2 Mtl 10 ...91540-000 CONV TERM., RING, 6AWG, 7/16 STUD 1.00 1.00 EAEA

2 Mtl 15 ...91540-001 CONV TERM., RING, 6AWG, 1/2 STUD 1.00 1.00 EAEA

1 Mtl 120 ..16144-000 CONV NUT U-NUT 1/2-13 6.00 6.00 EAEA

1 Mtl 125 ..21867-000 5 FLAT WSH 9/16X1.25 5/64  YELLO 4.00 4.00 EAEA

1 Mtl 130 ..22399-000 CONV PIPE NPL 1/2NPTX2.5 1.00 1.00 EAEA

1 Mtl 135 ..40078-000 1 HOSE 1/4ID UNCUT RUBR. LOW 
PER

3.75 3.75 FTFT

1 Mtl 140 ..40730-000 CONV GROMMET 1/2IDX13/16 2.00 2.00 EAEA

1 Asm 155 ..53220-054 38 BAT.CABL.ASY. 1GA 42^ 1.00 1.00 EAEA

2 Mtl 5 ...53218-000 CONV TERM. BATTERY 1 & 2 AWG 1.00 1.00 EAEA

2 Mtl 10 ...53219-000 CONV TERMINAL, RING, 1AWG, 5/16 STU 1.00 1.00 EAEA

2 Mtl 15 ...95901-002 CONV BAT.TERM BOOT-RED, 2-1AWG 1.00 1.00 EAEA

Page:

Indented Level Time:

Date:
User: daler

WINCO INC
Bill of Material Report

DescriptionAlt Qty/Parent Required QtyTypeLvl Seq RevisionPart Number

5

8:09:19 am

5/25/2016



2 Mtl 20 ...95902-000 CONV BAT.CABL. 1GA UNCUT RED 3.50 3.50 FTFT

1 Asm 160 ..53220-055 38 BAT.CABLE ASY. 1GA 21^ 1.00 1.00 EAEA

2 Mtl 5 ...53218-000 CONV TERM. BATTERY 1 & 2 AWG 1.00 1.00 EAEA

2 Mtl 10 ...53221-000 CONV BAT.CABL. 1GA UNCUT BLACK 1.75 1.75 FTFT

2 Mtl 15 ...91321-002 CONV TERMINAL, RING, 2AWG, 1/2 STUD 1.00 1.00 EAEA

2 Mtl 20 ...95901-001 CONV BAT.TERM BOOT-BLK, 2-1AWG 1.00 1.00 EAEA

1 Mtl 165 ..57580-000 CONV HHCS 1/2-13X1-1/2 GR5 ZINC 6.00 6.00 EAEA

1 Mtl 170 ..57580-003 CONV HHCS 1/2-13X2 GR5 ZINC 4.00 4.00 EAEA

1 Mtl 175 ..60706-121 CONV OPR.MANUAL LT6010DE OBS 1.00 1.00 EAEA

1 Mtl 180 ..62493-003 CONV RUBBER STRIP 2-1/8 X 1/8 THK. 11.50 11.50 FTFT

1 Asm 185 ..63966-003 1 NAME PLATE KIT 1.00 1.00 EAEA

2 Mtl 5 ...63966-000 CONV NAMEPLATE-COMPUTER BLNK - 
OBS

2.00 2.00 EAEA

2 Mtl 10 ...63966-002 CONV NAMEPLATE CLEAR OVER LAY - 
OBS

1.00 1.00 EAEA

1 Mtl 190 ..81018-001 CONV HOSE CLAMP 2.25 TO 1.25   X 1/ 2.00 2.00 EAEA

1 Mtl 195 ..81018-005 CONV HOSE CLAMP 1-1/16 TO 1/2   X 1 2.00 2.00 EAEA

1 Mtl 200 ..81018-009 CONV HOSE CLAMP 5/8 TO 1/4   X 5/16 4.00 4.00 EAEA

1 Mtl 205 ..81074-000 CONV ELBOW-PIPE 1/2NPT 90D 1.00 1.00 EAEA

1 Mtl 210 ..91257-000 CONV PERMATEX No. 2 FORM-A-
GASKET 8

0.00 0.00 EAEA

1 Mtl 215 ..91658-007 CONV HHCS 3/8-16X2-1/2 GR5 4.00 4.00 EAEA

1 Mtl 220 ..91658-008 CONV HHCS 3/8-16X2-3/4 GR5 2.00 2.00 EAEA

1 Mtl 225 ..92242-000 CONV NUT HEX 1/2-13 NYLOK 4.00 4.00 EAEA

1 Mtl 230 ..92388-000 6 HOSE FIT. 3/8NPT X 5/8 HOSE 1.00 1.00 EAEA

1 Mtl 235 ..92914-000 CONV NUT HEX 3/8-16 FULL 12.00 12.00 EAEA

1 Mtl 240 ..93689-001 CONV HOSE 5/8ID UNCUT HTR 1.50 1.50 FTFT

1 Mtl 245 ..94319-003 CONV HOSE FIT. 1/8-27MPT X 1/4 HOSE 2.00 2.00 EAEA

1 Mtl 250 ..95568-000 CONV THREAD STUD 10-24 X 5/8 SELF-C 4.00 4.00 EAEA

1 Mtl 255 ..96003-020 CONV HHCS M10-1.5X20MM BLACK 1.00 1.00 EAEA

1 Mtl 260 ..96936-008 CONV TERM., WIRE NUT, 18-10AWG, 
RED

3.00 3.00 EAEA

1 Mtl 265 ..97381-001 1 DECAL-DIESEL FUEL - LOW OR 
ULT

1.00 1.00 EAEA

1 Mtl 270 ..98806-000 CONV FLAT WSH .406 X 2 X .135 SAFET 12.00 12.00 EAEA

1 Mtl 275 ..98807-000 B SHOCKMOUNT, BLACK, 40 
DUROMETE

6.00 6.00 EAEA

1 Mtl 280 ..98906-004 CONV OIL DRAIN VALVE 1/2-14 NPT X 5 1.00 1.00 EAEA

1 Mtl 285 ..99123-000 CONV FUEL GAUGE DIAL - PLASTIC 1.00 1.00 EAEA

1 Asm 290 ..99214-000 4 COMP GEN PARTS 1.00 1.00 EAEA

2 Mtl 5 ...456-000 CONV NUT HEX #10-24 8.00 8.00 EAEA

2 Mtl 10 ...458-000 CONV NUT HEX 5/16-18 6.00 6.00 EAEA

2 Mtl 15 ...463-000 CONV HHCS 1/4-20X1/2 GR5 6.00 6.00 EAEA

2 Mtl 20 ...467-000 CONV HHCS 5/16-18X3/4 GR5 5.00 5.00 EAEA

2 Mtl 25 ...479-000 CONV LOCKWASHER 1/4 SPLIT 6.00 6.00 EAEA

2 Mtl 30 ...480-000 2 LOCKWASHER 5/16 SPLIT ZINC 11.00 11.00 EAEA

2 Mtl 35 ...480-001 2 LOCKWASHER 5/16 SPLIT BLACK 14.00 14.00 EAEA

Page:

Indented Level Time:

Date:
User: daler

WINCO INC
Bill of Material Report

DescriptionAlt Qty/Parent Required QtyTypeLvl Seq RevisionPart Number

6

8:09:19 am

5/25/2016



2 Mtl 40 ...484-000 CONV LOCKWASHER #10 SPLIT 4.00 4.00 EAEA

2 Mtl 45 ...598-000 CONV FLAT WSH #10 13/64X7/16 4.00 4.00 EAEA

2 Asm 50 ...15086-000 5 END COVER ASSY 1.00 1.00 EAEA

3 Mtl 10 ....21698-001 9 TORX PAN HD.SHT.MTL.SCREW 
10-1

2.00 2.00 EAEA

3 Asm 20 ....15106-000 2 END COVER 1.00 1.00 EAEA

4 Mtl 5 .....200015-016 A CRS 16 GA 48 x 96 3.33 191.99 SILB

3 Asm 30 ....15088-000 3 STRAP, CAPACITOR 1.00 1.00 EAEA

4 Mtl 5 .....200068-016 A GALVANIZE 16 GA 0.47 25.38 SILB

3 Mtl 40 ....15051-000 7 CAPACITOR, 40MFDS, 370VAC, 50/ 2.00 2.00 EAEA

3 Mtl 50 ....48602-029 1 TERMINAL, FEMALE, 16-14AWG, .2 4.00 4.00 EAEA

3 Mtl 60 ....91815-000 16 LW 14 GA, BLACK XLPE 
INSULATIO

0.50 0.50 FTFT

2 Asm 55 ...15971-000 3 ADAPTER,  ENGINE 1.00 1.00 EAEA

3 Mtl 5 ....15971-700 CONV RING 14-1/4ODX1-1/2WX1-1/4THK 1.00 1.00 EAEA

2 Asm 60 ...15973-000 1 DISC, FLEX 1.00 1.00 EAEA

3 Mtl 5 ....200016-016 A GALVANNEAL 16 GA 2.50 135.55 SILB

2 Asm 65 ...15977-000 6 COVER, END 1.00 1.00 EAEA

3 Mtl 5 ....200016-016 A GALVANNEAL 16 GA 3.75 203.33 SILB

2 Mtl 70 ...23917-000 CONV GROMMET, 11/16IDX1 1.00 1.00 EAEA

2 Asm 75 ...58684-004 6 EDGE TRIM 24.75" 1.00 1.00 EAEA

3 Mtl 5 ....58684-000 M EDGE TRIM 3/32"ID X .453 2.10 2.10 FTFT

2 Asm 80 ...64686-000 4 STUD 6.00 6.00 EAEA

3 Mtl 5 ....100005-402 CONV STL.RND.CF BAR 5/16 A311 CL B 0.34 2.07 LBLB

2 Mtl 85 ...81589-000 CONV LOCKING COMPOUND HERNON 
423  5

0.01 0.00 EAEA

2 Mtl 90 ...91190-000 CONV RHMS 10-24X3 4.00 4.00 EAEA

2 Mtl 95 ...96000-003 CONV HHCS 3/8-16X1-1/4 GR5 BLK 6.00 6.00 EAEA

2 Mtl 100 ...96002-016 CONV HHCS M8-1.25X16MM BLACK 6.00 6.00 EAEA

2 Mtl 105 ...96003-030 CONV HHCS M10-1.5X30MM BLACK 8.00 8.00 EAEA

2 Mtl 110 ...97436-010 CONV LOCKWASHER M10  PLAIN 8.00 8.00 EAEA

2 Asm 115 ...99032-000 6 RTR. ASY. WOUND 1.00 1.00 EAEA

3 Mtl 5 ....394-000 CONV NUT HEX #6-32 2.00 2.00 EAEA

3 Mtl 10 ....420-000 CONV RHMS 10-24X3/4 1.00 1.00 EAEA

3 Mtl 15 ....456-000 CONV NUT HEX #10-24 1.00 1.00 EAEA

3 Mtl 20 ....484-000 CONV LOCKWASHER #10 SPLIT 1.00 1.00 EAEA

3 Mtl 25 ....566-000 CONV LOCKWASHER #6 SPLIT 2.00 2.00 EAEA

3 Mtl 30 ....973-000 11 FLAT WSH #10 13/64 X 1 X .120 1.00 1.00 EAEA

3 Mtl 35 ....6917-000 CONV SCREW 6-32X3/8 BIND.HMS 2.00 2.00 EAEA

3 Mtl 40 ....15255-001 5 DIODE, STANDARD POLARITY, 
37AM

1.00 1.00 EAEA

3 Mtl 45 ....15255-002 5 DIODE, REVERSE POLARITY, 
37AMP

1.00 1.00 EAEA

3 Mtl 50 ....46921-000 CONV SLEEVING, #9, GD A, ACRYLIC FI 2.00 2.00 FTFT

3 Mtl 55 ....64562-000 CONV BEARING 6206 1.00 1.00 EAEA

3 Asm 60 ....91101-002 13 IMPELLOR 1.00 1.00 EAEA

Page:

Indented Level Time:

Date:
User: daler

WINCO INC
Bill of Material Report

DescriptionAlt Qty/Parent Required QtyTypeLvl Seq RevisionPart Number

7

8:09:19 am

5/25/2016



4 Mtl 5 .....91101-700 CONV CASTING, IMPELLOR, ALUMINUM, 
7

1.00 1.00 EAEA

3 Mtl 65 ....91155-000 CONV B-STAGED THERMO POLY RES 
BANDI

0.00 0.01 FTFT

3 Mtl 70 ....91158-000 D KEY WOODRUFF KEY 3/8X1-1/4 1.00 1.00 EAEA

3 Mtl 80 ....91559-000 4 BALANCING PUTTY 0.11 0.11 LBLB

3 Asm 85 ....99046-000 CONV ROTOR ASY 1.00 1.00 EAEA

4 Mtl 5 .....7777-000 4 TERM., RING, 16-14AWG, #6 STUD 2.00 2.00 EAEA

4 Asm 10 .....10468-048 CONV LW 16 GA BLK 5-1/2 2.00 2.00 EAEA

5 Mtl 5 ......10468-000 CONV LW 16 GA, BLACK, 600V, 150C, S 0.46 0.92 FTFT

4 Mtl 15 .....15684-000 1 LAMINATION, ROTOR, OLD #19526 100.00 100.00 EAEA

4 Asm 20 .....15970-000 5 SHAFT 1.00 1.00 EAEA

5 Mtl 5 ......100005-718 CONV STL.RND.CF BAR 3.0 1144 A108 32.04 32.04 LBLB

4 Mtl 25 .....44208-001 CONV KEY 1/4 SQ X 2.875 LG. 1.00 1.00 EAEA

4 Mtl 30 .....46024-000 CONV SLEEVING, #2, GD B, ACRYLIC FI 2.00 2.00 FTFT

4 Mtl 35 .....91240-000 A EPOXY, STERLING E103 THIXO 
THE

0.00 0.01 GAGA

4 Mtl 40 .....91268-000 B TAPE, WAXED LACING TAPE, 
575YD

4.00 4.00 FTFT

4 Mtl 45 .....99045-000 CONV INSULATION CHANNEL 4.00 4.00 EAEA

4 Asm 50 .....99137-000 1 END INSULATOR 8.00 8.00 EAEA

5 Mtl 5 ......100042-201 CONV POLYESTER GLASS SHEET, GPO-
1, 

0.02 0.16 SFSF

4 Mtl 55 .....100002-518 CONV MAGNET WIRE 18 GAUGE 
COPPER

2.25 2.25 LBLB

4 Mtl 60 .....34138 CONV TERM-CONN #10W BUTT 2.00 2.00 EAEA

2 Asm 120 ...99044-002 3 END BRKT., MACHINED 1.00 1.00 EAEA

3 Asm 5 ....99037-000 6 CASTING, END BRACKET 1.00 1.00 EAEA

4 Mtl 5 .....99037-700 CONV CASTING, END BRACKET 1.00 1.00 EAEA

2 Asm 125 ...99213-000 3 STATOR ASY. 1.00 1.00 EAEA

3 Mtl 5 ....99020-002 5 FIELD SHELL 1.00 1.00 EAEA

3 Asm 10 ....99027-000 10 STATOR ASY. WOUND 1.00 1.00 EAEA

4 Asm 5 .....41246-003 CONV SLV-#11X11DBL.ACRYL 4.00 4.00 EAEA

5 Mtl 5 ......41246-000 CONV SLEEVING, #11, GD C2, ACRYLIC 0.92 3.68 FTFT

4 Asm 10 .....41246-005 CONV SLV-#11X4DBL.ACRYL 3.00 3.00 EAEA

5 Mtl 5 ......41246-000 CONV SLEEVING, #11, GD C2, ACRYLIC 0.34 1.02 FTFT

4 Asm 15 .....46024-009 CONV SLEEV-#2 3 1/2IN.GLS 4.00 4.00 EAEA

5 Mtl 5 ......46024-000 CONV SLEEVING, #2, GD B, ACRYLIC FI 0.30 1.20 FTFT

4 Asm 25 .....91156-003 CONV SLOT PAPER 36.00 36.00 EAEA

5 Mtl 5 ......100045-102 CONV INSULATION SHEET, DMD100 5-5-
5

0.06 2.06 SFSF

4 Mtl 30 .....91157-025 CONV SLOT WEDGE 2-7/8 132.00 132.00 EAEA

4 Mtl 35 .....91268-000 B TAPE, WAXED LACING TAPE, 
575YD

30.00 30.00 FTFT

4 Mtl 40 .....91439-002 CONV TERMINAL, PARALLEL 
CONNECTOR, 

8.00 8.00 EAEA

4 Asm 45 .....91845-013 CONV LWA  14GA  BLK 1.00 1.00 EAEA

5 Asm 5 ......91815-014 CONV LW 14GA 14 1/4 IN. 1.00 1.00 EAEA

6 Mtl 5 .......91815-000 16 LW 14 GA, BLACK XLPE 
INSULATIO

1.19 1.19 FTFT

4 Asm 50 .....91845-014 CONV LWA  14GA  BLK 1.00 1.00 EAEA

Page:

Indented Level Time:

Date:
User: daler

WINCO INC
Bill of Material Report

DescriptionAlt Qty/Parent Required QtyTypeLvl Seq RevisionPart Number

8

8:09:19 am

5/25/2016



5 Asm 5 ......91815-014 CONV LW 14GA 14 1/4 IN. 1.00 1.00 EAEA

6 Mtl 5 .......91815-000 16 LW 14 GA, BLACK XLPE 
INSULATIO

1.19 1.19 FTFT

4 Asm 55 .....91845-015 CONV LWA  14GA  BLK 2.00 2.00 EAEA

5 Asm 5 ......91815-014 CONV LW 14GA 14 1/4 IN. 1.00 2.00 EAEA

6 Mtl 5 .......91815-000 16 LW 14 GA, BLACK XLPE 
INSULATIO

1.19 2.38 FTFT

4 Asm 60 .....91845-016 CONV LWA  14GA  BLK 2.00 2.00 EAEA

5 Mtl 5 ......48602-029 1 TERMINAL, FEMALE, 16-14AWG, .2 1.00 2.00 EAEA

5 Asm 10 ......91815-014 CONV LW 14GA 14 1/4 IN. 1.00 2.00 EAEA

6 Mtl 5 .......91815-000 16 LW 14 GA, BLACK XLPE 
INSULATIO

1.19 2.38 FTFT

4 Mtl 65 .....91926-000 CONV TAPE, POLY FILM/GLS FILAMENT, 3.00 3.00 FTFT

4 Asm 70 .....98752-003 CONV STATOR COIL GROUP 2.00 2.00 EAEA

5 Mtl 5 ......100002-514 CONV MAGNET WIRE 14 GAUGE 
COPPER

2.05 4.10 LBLB

4 Asm 75 .....98752-004 CONV STATOR COIL GROUP 2.00 2.00 EAEA

5 Mtl 5 ......100002-515 CONV MAGNET WIRE 15 GAUGE 
COPPER

2.06 4.13 LBLB

4 Asm 80 .....98752-005 CONV STATOR COIL GROUP 2.00 2.00 EAEA

5 Mtl 5 ......100002-515 CONV MAGNET WIRE 15 GAUGE 
COPPER

3.10 6.19 LBLB

4 Asm 85 .....99155-000 CONV STATOR STACK ASY. 1.00 1.00 EAEA

5 Mtl 5 ......15685-000 1 LAMINATION, STATOR, OLD 
#19528

100.00 100.00 EAEA

3 Mtl 15 ....16245-000 CONV STUD, BARB LOK #16 X 1/2 STUD 2.00 2.00 EAEA

1 Asm 295 ..99229-000 2 BUSHING, RED.MOD. 2.00 2.00 EAEA

2 Mtl 5 ...81417-000 CONV HEX REDU.BUSH. 3/8X1/8 1.00 2.00 EAEA

1 Asm 300 ..99288-000 9 BATTERY RACK KIT 1.00 1.00 EAEA

2 Mtl 5 ...479-000 CONV LOCKWASHER 1/4 SPLIT 2.00 2.00 EAEA

2 Mtl 10 ...512-000 2 FLAT WSH 1/4  9/32ID X 5/8OD X 2.00 2.00 EAEA

2 Mtl 15 ...638-000 CONV NUT HEX 1/4-20 2.00 2.00 EAEA

2 Asm 20 ...96717-001 5 HOLD DOWN ROD 10.5 2.00 2.00 EAEA

3 Mtl 5 ....100005-401 CONV STL.RND.CF BAR 1/4 1144 A108 0.19 0.38 LBLB

2 Asm 25 ...99121-000 4 BRKT., BATT.HLDWN. 1.00 1.00 EAEA

3 Mtl 5 ....200014-010 A HRPO 10 GA 0.60 15.36 SILB

Page:

Indented Level Time:

Date:
User: daler

WINCO INC
Bill of Material Report

DescriptionAlt Qty/Parent Required QtyTypeLvl Seq RevisionPart Number

9

8:09:19 am

5/25/2016


	16066-000*100001

